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Copper Mining
and Extraction:
Sulfide Ores

Answers

The correct order is:

Ore (0.25 to 0.5% copper)
Concentrate (30% copper)
Matte (50-70% copper)
Blister (98% copper)
Fire refined (99% copper)
Anode (99% copper)
Cathode (99.99% copper)




The masses are:
A(Cu)=64; Al0)=16; A(S)=32

The molar mass of Cu,O =128 + 16 = 144
The percentage of copper in Cu,O is therefore 128/144 x 100 = 89%

The molar mass of Cu,S =128 + 32 = 160
The percentage of copper in Cu,S is therefore 128/160 x 100 = 80%

Chalcocite, bornite and chalcopyrite.

The sulfur dioxide produces sulfuric acid in the acid plant. It would
cause acid rain if released into the atmosphere as well as serious
health risk fo anyone living anywhere near the furnaces. The sulfuric
acid has a high value because it is used to leach copper oxide ores.
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